Guang-Liang Zhou; Zhi-Wei Sun On sums and products in a field

Czechoslovak Mathematical Journal, Vol. 72 (2022), No. 3, 817-823

Persistent URL: http://dml.cz/dmlcz/150619

Terms of use:

© Institute of Mathematics AS CR, 2022

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

ON SUMS AND PRODUCTS IN A FIELD

GUANG-LIANG ZHOU, ZHI-WEI SUN, Nanjing

Received May 14, 2021. Published online November 25, 2021.

Abstract. We study sums and products in a field. Let F be a field with $ch(F) \neq 2$, where ch(F) is the characteristic of F. For any integer $k \ge 4$, we show that any $x \in F$ can be written as $a_1 + \ldots + a_k$ with $a_1, \ldots, a_k \in F$ and $a_1 \ldots a_k = 1$, and that for any $\alpha \in F \setminus \{0\}$ we can write every $x \in F$ as $a_1 \ldots a_k$ with $a_1, \ldots, a_k \in F$ and $a_1 + \ldots + a_k = \alpha$. We also prove that for any $x \in F$ and $k \in \{2, 3, \ldots\}$ there are $a_1, \ldots, a_{2k} \in F$ such that $a_1 + \ldots + a_{2k} = x = a_1 \ldots a_{2k}$.

Keywords: field; rational function; restricted sum; restricted product

MSC 2020: 11D85, 11P99, 11T99

1. INTRODUCTION

Let \mathbb{Q} be the field of rational numbers. In 1749 Euler showed that any $q \in \mathbb{Q}$ can be written as abc(a + b + c) with $a, b, c \in \mathbb{Q}$; equivalently, we can always write $x = -q \in \mathbb{Q}$ as abcd with $a, b, c, d \in \mathbb{Q}$ and a + b + c + d = 0. Actually, Euler noted that the equation abc(a + b + c) = q has the rational parameter solutions

$$\begin{split} a &= \frac{6qst^3(qt^4 - 2s^4)^2}{(4qt^4 + s^4)(2q^2t^8 + 10qs^4t^4 - s^8)},\\ b &= \frac{3s^5(4qt^4 + s^4)^2}{2t(qt^4 - 2s^4)(2q^2t^8 + 10qs^4t^4 - s^8)},\\ c &= \frac{2(2q^2t^8 + 10qs^4t^4 - s^8)}{3s^3t(4qt^4 + s^4)}. \end{split}$$

The reader may consult Elkies's talk (see [1]) for a nice exposition of this curious discovery of Euler and its connection to modern topics like K3 surfaces. Elkies in [1]

DOI: 10.21136/CMJ.2021.0184-21

This research was supported by the Natural Science Foundation of China (Grant No. 11971222).

found that abcd = x with a + b + c + d = 0, where

$$\begin{split} a = & \frac{(s^4 + 4x)^2}{2s^3(s^4 - 12x)}, \quad b = \frac{2x(3s^4 - 4x)^2}{s^3(s^4 + 4x)(s^4 - 12x)}, \\ c = & \frac{s(s^4 - 12x)}{2(3s^4 - 4x)}, \qquad d = -\frac{2s^5(s^4 - 12x)}{(s^4 + 4x)(3s^4 - 4x)}. \end{split}$$

Let F be a field. If $x = a_1 \dots a_k$ with $a_1, \dots, a_k \in F$ and $a_1 + \dots + a_k = 0$, then $a_1 \dots a_k$ is called a *balanced decomposition* of x by Klyachko and Vassilyev, see [3]. Unaware of Euler's above work in 1749, Klyachko and Vassilyev in [3] showed that if ch(F) (the characteristic of F) is not two then for each $k = 5, 6, \dots$, every $x \in F$ has a balanced decomposition $a_1 \dots a_k$ with $a_1, \dots, a_k \in F$ and $a_1 + \dots + a_k = 0$. When F is a finite field and k > 1 is an integer, they are determined completely when any $x \in F$ can be written as $a_1 \dots a_k$ with $a_1, \dots, a_k \in F$ and $a_1 + \dots + a_k = 0$. In 2016, Klyachko, Mazhuga and Ponfilenko in [2] proved that if $ch(F) \neq 2, 3$ and $|F| \neq 5$ then any $x \in F$ has a balanced decomposition $a_1a_2a_3a_4$ with $a_1, a_2, a_3, a_4 \in F$ and $a_1+a_2+a_3+a_4=0$; in fact, for $x \in F \setminus \{\frac{1}{4}, -\frac{1}{8}\}$ they found that a(x)b(x)c(x)d(x) = x and a(x) + b(x) + c(x) + d(x) = 0, where

$$a(x) = \frac{2(1-4x)^2}{3(1+8x)}, \qquad b(x) = -\frac{1+8x}{6},$$

$$c(x) = -\frac{1+8x}{2(1-4x)}, \qquad d(x) = \frac{18x}{(1-4x)(1+8x)}.$$

This is much simpler than Euler's and Elkies' rational parameter solutions to the equation abcd = x with the restriction a + b + c + d = 0.

2. Main results and proof

Motivated by the above work, we obtain the following new results.

Theorem 2.1. Let F be any field with $ch(F) \neq 2$, and let $\alpha \in F \setminus \{0\}$ and $k \in \{4, 5, \ldots\}$. Then every $x \in F$ can be written as $a_1 \ldots a_k$ with $a_1, \ldots, a_k \in F$ and $a_1 + \ldots + a_k = \alpha$.

Remark 2.1. This theorem with $\alpha = 1$ implies that for any $x \in \mathbb{Q}$ and $k \in \{4, 5, \ldots\}$ there are $a_1, \ldots, a_k \in \mathbb{Q}$ such that $a_1 \ldots a_k(a_1 + \ldots + a_k) = x$, this extension of Euler's work was asked by van der Zypen, see [4].

Proof of Theorem 2.1. We distinguish three cases.

Case 1: k = 4. If every $q \in F$ can be written as *abcd* with $a, b, c, d \in F$ and a + b + c + d = 1, then for any $x \in F$ we can write $x/\alpha^4 = abcd$ with $a, b, c, d \in F$ and a + b + c + d = 1, and hence $x = (a\alpha)(b\alpha)(c\alpha)(d\alpha)$ with $a\alpha + b\alpha + c\alpha + d\alpha = \alpha$. So, it suffices to work with $\alpha = 1$.

Let $x \in F$ with $x \neq \pm 1$. Put

$$a(x) = -\frac{(1-x)^2}{2(1+x)}, \quad b(x) = \frac{1+x}{2}, \quad c(x) = \frac{1+x}{1-x}, \quad d(x) = \frac{4x}{x^2-1}.$$

It is easy to verify that

$$a(x)b(x)c(x)d(x)=x\quad \text{and}\quad a(x)+b(x)+c(x)+d(x)=1.$$

For x = -1, we note that

$$-1 = \frac{1}{2} \times \frac{1}{2} \times 2 \times (-2)$$
 with $\frac{1}{2} + \frac{1}{2} + 2 - 2 = 1$.

For x = 1, if ch(F) = 3 then

$$1 = 1 \times 1 \times 1 \times 1$$
 with $1 + 1 + 1 + 1 = 1$

if $ch(F) \neq 3$ then

$$1 = \frac{3}{2} \times \left(-\frac{3}{2}\right) \times \left(-\frac{1}{3}\right) \times \frac{4}{3} \quad \text{with } \frac{3}{2} - \frac{3}{2} - \frac{1}{3} + \frac{4}{3} = 1.$$

This proves Theorem 2.1 for k = 4.

Case 2: k = 5. As $ch(F) \neq 2$, we have $\alpha - \varepsilon \neq 0$ for some $\varepsilon \in \{\pm 1\}$. Let $x \in F$. By Theorem 2.1 for k = 4, we can write εx as *abcd* with $a, b, c, d \in F$ and $a + b + c + d = \alpha - \varepsilon$. Hence, $x = abcd\varepsilon$ with $a + b + c + d + \varepsilon = \alpha$. So Theorem 2.1 also holds for k = 5.

Case 3: $k \ge 6$. Let $x \in F$. If k is even, then by Theorem 2.1 for k = 4 there are $a, b, c, d \in F$ with $a + b + c + d = \alpha$ such that $abcd = (-1)^{(k-4)/2}x$, hence

$$x = abcd \times 1^{(k-4)/2} \times (-1)^{(k-4)/2} \quad \text{with } a+b+c+d + \frac{k-4}{2}(1-1) = \alpha.$$

When k is odd, by Theorem 2.1 for k = 5 there are $a, b, c, d, e \in F$ with $a + b + c + d + e = \alpha$ such that $abcde = (-1)^{(k-5)/2}x$, hence

$$x = abcde \times 1^{(k-5)/2} \times (-1)^{(k-5)/2} \quad \text{with } a + b + c + d + e + \frac{k-5}{2}(1-1) = \alpha.$$

Combining the above, we have completed the proof of Theorem 2.1.

819

Theorem 2.2. Let F be a field with $ch(F) \neq 2$ and let $k \ge 4$ be an integer.

- (i) If $ch(F) \neq 3$, then any $x \in F$ can be written as $a_1 + \ldots + a_k$ with $a_1, \ldots, a_k \in F$ and $a_1 \ldots a_k = -1$.
- (ii) Any $x \in F$ can be written as $a_1 + \ldots + a_k$ with $a_1, \ldots, a_k \in F$ and $a_1 \ldots a_k = 1$.

Remark 2.2. It seems that there are no $a, b, c \in \mathbb{Q}$ with a + b + c = 1 = abc.

Let F be any field and k be a positive integer. Clearly, any $x \in F$ can be written as $a_1 + \ldots + a_{2k+1}$ with $a_1, \ldots, a_{2k+1} \in F$ and $a_1 \ldots a_{2k+1} = (-1)^k x$; in fact, x + k(1-1) = x and $x \times 1^k \times (-1)^k = (-1)^k x$. If $a^2 = -1$ for some $a \in F$, then any $x \in F$ can be written as $a_1 + \ldots + a_{2k+1}$ with $a_1, \ldots, a_{2k+1} \in F$ and $a_1 \ldots a_{2k+1} = (-1)^{k-1} x$; in fact, x + (a-a) + (k-1)(1-1) = x and

$$x \times a \times (-a) \times 1^{k-1} \times (-1)^{k-1} = (-1)^{k-1} x.$$

Proof of Theorem 2.2. For any $m \in \mathbb{Z}$, if every $x \in F$ can be written as a+b+c+d with $a, b, c, d \in F$ and abcd = m, then for any $x \in F$ and $k \in \{4, 5, \ldots\}$ there are $a_1, a_2, a_3, a_4 \in F$ such that $a_1+a_2+a_3+a_4 = x-(k-4)$ and $a_1a_2a_3a_4 = m$, hence $a_1 + \ldots + a_k = x$ and $a_1 \ldots a_k = m$, where $a_j = 1$ for $4 < j \leq k$. Thus, it suffices to show parts (i) and (ii) in the case k = 4.

(i) For $x \in F \setminus \{-1, -3\}$, we put

$$a(x) = \frac{(x+1)^2}{2(x+3)}, \quad b(x) = \frac{x+3}{2}, \quad c(x) = -\frac{x+3}{x+1}, \quad d(x) = \frac{4}{(x+1)(x+3)},$$

and it is easy to verify that

$$a(x)b(x)c(x)d(x) = -1$$
 and $a(x) + b(x) + c(x) + d(x) = x$.

Observe that

$$-1 = 2 - 2 - \frac{1}{2} - \frac{1}{2}$$
 with $2 \times (-2) \times \left(-\frac{1}{2}\right) \times \left(-\frac{1}{2}\right) = -1.$

If $ch(F) \neq 3$, then

$$-3 = \frac{2}{3} - \frac{2}{3} - \frac{3}{2} - \frac{3}{2} - \frac{3}{2} \quad \text{with } \frac{2}{3} \times \left(-\frac{2}{3}\right) \times \left(-\frac{3}{2}\right) \times \left(-\frac{3}{2}\right) = -1.$$

This concludes the proof of Theorem 2.2 (i).

(ii) If $x \in F \setminus \{0, \pm 1\}$, then it is easy to verify that

$$\frac{1-x^2}{x^2} + \frac{x^2-1}{x^2} + \frac{x}{1-x^2} + \frac{x^3}{x^2-1} = x \quad \text{and} \quad \frac{1-x^2}{x^2} \times \frac{x^2-1}{x^2} \times \frac{x}{1-x^2} \times \frac{x^3}{x^2-1} = 1.$$

Note that 0 = 1 + 1 - 1 - 1 and $1 \times 1 \times (-1) \times (-1) = 1$. If ch(F) = 3, then 1 + 1 + 1 = 1 and $1 \times 1 \times 1 \times 1 = 1$, and also -1 - 1 - 1 = -1 and (-1)(-1)(-1)(-1) = 1. If $ch(F) \neq 3$, then

$$\frac{3}{2} - \frac{3}{2} - \frac{1}{3} + \frac{4}{3} = 1$$
 and $\frac{3}{2} \times \left(-\frac{3}{2}\right) \times \left(-\frac{1}{3}\right) \times \frac{4}{3} = 1$,

and also

$$\frac{3}{2} - \frac{3}{2} + \frac{1}{3} - \frac{4}{3} = -1$$
 and $\frac{3}{2} \times \left(-\frac{3}{2}\right) \times \frac{1}{3} \times \left(-\frac{4}{3}\right) = 1.$

So Theorem 2.2 (ii) also holds.

In view of the above, the proof of Theorem 2.2 is now complete.

Theorem 2.3. Let F be a field with $ch(F) \neq 2$ and let $k \ge 2$ be an integer. Then for any $x \in F$ there are $a_1, \ldots, a_{2k} \in F$ such that $a_1 + \ldots + a_{2k} = x = a_1 \ldots a_{2k}$.

Remark 2.3. If F is a field with $ch(F) \neq 2$ and $k \ge 2$ is an integer, then for any $x \in F$, by Theorem 2.3 there are $a_1, \ldots, a_{2k} \in F$ with $a_1 + \ldots + a_{2k} = -x = a_1 \ldots a_{2k}$, hence

$$(-a_1) + \ldots + (-a_{2k}) = x$$
 and $(-a_1) \ldots (-a_{2k}) = -x$.

Proof of Theorem 2.3. We first handle the case k = 2. For $x \in F \setminus \{\pm 1\}$, we put

$$a(x) = \frac{(x+1)^2}{2(x-1)}, \quad b(x) = \frac{x-1}{2}, \quad c(x) = \frac{1-x}{1+x}, \quad d(x) = \frac{4x}{1-x^2}$$

and it is easy to verify that

$$a(x)b(x)c(x)d(x) = x = a(x) + b(x) + c(x) + d(x).$$

Clearly,

$$-1 = -\frac{1}{2} - \frac{1}{2} + 2 - 2 \quad \text{with} \quad -\frac{1}{2} \times \left(-\frac{1}{2}\right) \times 2 \times (-2) = -1.$$

If $ch(F) \neq 3$, then

$$1 = \frac{3}{2} - \frac{3}{2} - \frac{1}{3} + \frac{4}{3} \quad \text{with } \frac{3}{2} \times \left(-\frac{3}{2}\right) \times \left(-\frac{1}{3}\right) \times \frac{4}{3} = 1.$$

When ch(F) = 3, we have

$$1 = 1 + 1 + 1 + 1$$
 with $1 \times 1 \times 1 \times 1 \times 1 = 1$.

This proves Theorem 2.3 for k = 2.

Now we consider the case $k \ge 3$. By Theorem 2.3 for k = 2, there are $a, b, c, d \in F$ such that $a + b + c + d = (-1)^k x = abcd$. Thus,

$$(-1)^{k}a + (-1)^{k}b + (-1)^{k}c + (-1)^{k}d + (k-2)(1-1) = x$$

and

$$(-1)^{k}a \times (-1)^{k}b \times (-1)^{k}c \times (-1)^{k}d \times 1^{k-2} \times (-1)^{k-2} = abcd(-1)^{k} = x.$$

This proves Theorem 2.3 for $k \ge 3$.

By the above, we have completed the proof of Theorem 2.3.

Motivated by Theorem 2.3 and Remark 2.3, we propose the following conjecture based on our computation.

Conjecture 2.1. Let F be any field with $ch(F) \neq 2, 3$. Then, for any $x \in F$ there are $a, b, c, d \in F$ such that a + b + c + d - 1 = x = abcd.

For example, in any field F with $ch(F) \neq 2, 3$, we have

$$-2 + \frac{9}{2} - \frac{2}{3} + \frac{1}{6} - 1 = 1 = (-2) \times \frac{9}{2} \times \left(-\frac{2}{3}\right) \times \frac{1}{6}.$$

Motivated by our proof of Theorem 2.2 (ii), we obtain the following result.

Theorem 2.4. Let F be a field with $ch(F) \neq 2$ and let m be any nonzero integer. Then any $x \in F \setminus \{0\}$ can be written as a+b+c+d with $a, b, c, d \in F$ and $abcd = x^m$.

Proof. If m is odd and $x \in F \setminus \{0,1\}$, then, for $n = \frac{1}{2}(3-m)$ we have

$$\frac{1-x}{x^n} + \frac{x-1}{x^n} + \frac{x}{1-x} + \frac{x^2}{x-1} = x$$

and

$$\frac{1-x}{x^n} \times \frac{x-1}{x^n} \times \frac{x}{1-x} \times \frac{x^2}{x-1} = x^{3-2n} = x^m.$$

If m is even and $x \in F \setminus \{0, \pm 1\}$, then, for $n = \frac{1}{2}(4-m)$ we have

$$\frac{1-x^2}{x^n} + \frac{x^2-1}{x^n} + \frac{x}{1-x^2} + \frac{x^3}{x^2-1} = x$$

and

$$\frac{1-x^2}{x^n} \times \frac{x^2-1}{x^n} \times \frac{x}{1-x^2} \times \frac{x^3}{x^2-1} = x^{4-2n} = x^m.$$

As in the proof of Theorem 2.2 (ii), any $x \in \{\pm 1\}$ can be written as a + b + c + dwith $a, b, c, d \in F$ and abcd = 1. So we have the desired result. \Box

References

- [1] N. D. Elkies: On the areas of rational triangles or how did Euler (and how can we) solve xyz(x + y + z) = a? Available at
 - http://www.math.harvard.edu/~elkies/euler_14t.pdf (2014), 50 pages.
- [2] A. A. Klyachko, A. M. Mazhuga, A. N. Ponfilenko: Balanced factorisations in some algebras. Available at https://arxiv.org/abs/1607.01957 (2016), 4 pages.
- [3] A. A. Klyachko, A. N. Vassilyev: Balanced factorisations. Available at https://arxiv.org/abs/1506.01571 (2015), 8 pages.
- [4] D. van der Zypen: Question on a generalisation of a theorem by Euler. Question 302933 at MathOverflow, June 16, 2018. Available at http://mathoverflow.net/questions/302933.

Author's address: Guang-Liang Zhou (corresponding author), Zhi-WeiSun, Department of Mathematics, Nanjing University, Gulou Campus, No. 22, Hankou Road, Gulou District, Nanjing 210093, P.R. China, e-mail: guangliangzhou@126.com, zwsun@ nju.edu.cn.